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n.7 I AQ 7(3) | AORB—EAEEFRER 24 B AR — 357 366
p.7 I A0 73) | AORB—ERHEFRER S22 EES A A 811 786
n.7 I AQ 7(3) | AORB—EAEEFRER 24 B SRR — B A 454 A 420
n.7 I AQ 73) | AORB—EAHERER SH24E HAME— A — R 2,548 2,541
p.7 I AO 73) | AOEH—ERHEFRER SH2E HEMEH— A A 2,512 2,507
n.7 I AQ 73) | AORB—EAHERER 24 HAE—EA—ZOMh 36 34
n.7 I AQ 7(3) | AORB—EAEEFRER 24 A — SR — A% 2,340 2317
n.7 I AQ 73) | AORB—EAHERER SH24E MR — SR — g 2,306 2,281
n.7 I AQ 7(3) | AORB—EAEERER 24 HAEH— - 20 34 36
n.7 I AQ 73) | AORB—EAHERER 24 R B — R 208 224
p.126 X BESLVEE 61(1) |A#fEE — #HR SHEE Wi 16,070 16,450
0.144 X1 #a@E 793 |ARRERROKRE — RREHR | omomm FEOBABE—RER— 4B 50,161 50,143
0.146 X1 #ammE so)) EES B DBEE AIRTE s EBRT IR — AR 241,393 239,628
0.146 X1 e so) | a B DEVERE AMRETE st ERE T URR— MBS 192,341 191,917
0.146 X1 #ammE so) EES B DBEE AIRTE st EBR TR — 20 274,056 276,245
p.154 XTI #&EE 94 REBAL R SMTE TR — 1% 65 64
p.154 X1 #HARE 94 | REREUMERE SHTE Y — R —& 21 20
p.154 XTI #&EE 94 | REREURER SHTTLE TEEH—EHR— 15 1 2
p.154 X1 #HARE 94 | REREUMERE SHTE TS — T — 25% 1 25
p.154 XTI #afRmE 94 | REREUIMER SHTE B —EH3— 3% 6 28
p.154 X #ARE 94 | REBUMER SHTE TEEH—EHR— 45 28 6
p.154 XTI #afRmE 94 | REREUIMER SHTE T —EHR— 5% 26 1
p.154 X #ARE 94 | REBUMER SHTE T —EHR— 65 3 2
pl164 | XI HARE U | REELER SR R ERRE T oA 1 -
0.155 X #H&EE 95  |EEEEA—OFIBRR SHEE R SIE~EREE 48 129
p162 | XTI HEHLEXIE 102 |EEEHomR(2a4) SHTE— R MEH(ABE) — K 63 90
p.162 | XII HBESLUNL 102 | EEFROER(&B4H) SITE— B BEH(KEE) —B 34 45
p162 | XTI HEHLEXIE 102 |EEEHomR(2a4) SHTE— R MEH(AEE) —%& 29 45
p.162 | XII HBESLUNE 102 |BESROHR(£AH) BMTE—AIL BEH(RBE) — B 13 28
p162 | XI HEBLUXIE 102 |E%EHomR(£a4) SHTTE— AL MEH(AEE) B 8 13
162 | X HBEHSLUXE 102 |EE2EOER(2E4) STE— AT BEMCABE) —% 5 15
p.162 | XTI #HBEHLUXE 102 |BEsBofn(2EH) SHTE—FIL BB (R HH) — 1% 50 62
p.162 | XII HBESLUUE 102 |BESROHER(£AH) BHMTE—FAIL BEH(ABE) —B 26 32
p.162 | XTI #HBEHLUXE 102 |BEsBofn(2EH) SHTE—FIL BER(KAEE) —& 24 30
p.162 | XII HBESLUUE 102 |BESROHR(£AH) SHIFE— Y BEM—FHE—B 39 392
p.164 | XTI #HBEHLUXE 105 | k20w SMTE AN — BT — R B 4,426 4622
p.164 | X1 HBESLUXE 105 | REOER SHTHE PAEH—BREY-BE-% 1,588 2,190
p.164 | XTI #HBEHLUXE 105 | k20w SN2 SAEY—KRFRE—-B 2,114 2,116
p.182 | XII HBESLUXE 127 | DEXLEOFI R TRI0EE BIEEE— % 5,850 5534
p.192 XV B 142(1) | BAREBELSE — &A e SH2EE-FHEE 296,305,988] 355,367,345
0.194 XV B 142(2) | RMARHEELE — & W THRI0EE - FUBE 575,994,727§296,851,924
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p.194 XV B 142(2) | BARERELSE — &H — &t TR0 E—FHRE 300,448,492]155,178,619
p.194 XV 8tk 142(2) |BMABHBELE — Kl FRIKE THI0FE—FHBE 167,909,839] 85,695,504
p.194 XV B 142(2) | BARERELSE — &H FlRELELE TR0 E—FHRE 46,375,558 23,688,424
0.194 XV B 142(2) | RMARHEELE — & KEEEAE THRI0EE - FUBE 23,373,147} 11,876,513
p.194 XV B 142(2) | BARERELSE — &H ARTOREEERE T30 E—FHRE 37,887,691) 20,412,864
0.194 XV B 142(2)  |RMARHBELE — & W BM2EE - FHIEE 300,909,479§360,012,583
p200 | XVI FRELURE | 148 | TEEEHERR ZERBAULART = DHT |y 74 50
0200 | XVI FHALESE | 148 | TERERERR SARRR (HHNR) —DHT | prpzry 215 155
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